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SREHA| LR |&ZF| 100m 6 | FARE RAF | 14.81% B EEAEEEER
SREHAl LR [ZF[ 100m 4 =0 Bx | 14.30% ¥ | #BE 2 | —15%
SWEHA| LR [ZF| 100m 7 Jlliﬁ'ﬁ £ [ 15.36% | XEMES | 1 | -15%
SfEEHAl kR [ZF| 100m 4 | B JHER | 14.22% ¥ #Rs 2 | —15%
SfAEHA| LR |[ZF| 100m 3 hnﬁ%@ HFE| 14.11% F| EHE 1 [-1.5%
SfEEHAl kR [ZF| 100m 1 | #%8 \[&RF | 13.00% % | EEBES | 2 |15+
SREHA| LR |&ZF| 100m 2 AR % 13.68% F | BEFTES| 2 |-15%
SfEEHAl kR [ZF| 100m 5 (badi: 14.43* ¥ | EHS 2 | —15%
SREHA| LR [ZF| 100m 6 pif 45 15.01% ¥| #Es 1 | -15%
SfAEHAl & |ZF| 100m 8 /]\259# KB | 1543 | EAE 1 [ —1.5%
SREHA| LR |&ZF| 100m 8 E: B | 14.24% Z| A 2 |+0.1%
SfAEHA| LR [ZF| 100m 5 | M H=HR | 1393 R WA 2 [+0.1%
SfAEHA| LR [ZF| 100m 3 zlsF'El = 13.45% RBEFESED| 2 | +01*
2fEEHAl kR [ZF| 100m 2 | &I o | 12.86% R kESES | 2 [+0.1*
SfAEHA| LR [ZF| 100m 4 | 2pn FH | 1364 R WBEERBS | 1 | +01*
SEHA| LR [&ZF| 100m 1 | 8% aIRF [ 12.86% R AAE&GES | 2 | +0.1*
SWEHA| LR [&ZF| 100m 6 | =M A< | 14.06% R :I[;Ejtﬂﬂﬁ,—, 1 [+0.1%
SAEHA| LR [ZF]| 100m 7 xR HI=E| 14.15% R EsE 1 | +0.1%
SfEEHAl kR [ZF| 200m 4 | 3K |4 | 31.94 | ERE 1 | -0.3%
=REFHA| dt ZF|  200m A DNS| % | BEm~rEg| 1
SffEHA| R [ZF[ 200m 1 | % aIRF | 26.56% % | tBE&ES | 2 | 03«




Bk | s | i | & — ik |EE|IR|  FE |FE|RE|  GE

.—117@%)?)\ R [ZF| 200m 3 | B A& [ 2969 F| kBB E | 1 [-03%
2EEHA| b ZF| 200m 2 FEEEES 29.19% % R 2 | -0.3%*
SREHRA| d ZF| 200m EARKR KB DNS| % =S 1
SihEHm Al dt ZF| 200m 5 JNim 8 [ 31.73« F| kBHES | 1 [-1.7%
SiEHA ZF|[ 200m 1 EVE T 28.11% F| WHWEEBS | 1 [-1.7%
=SRERA| db ZF| 200m 2 | 154K fEE [ 28.30% ¥ |HEETrES| 2 | -1.7%
=AEH Al db ZF| 200m 3 BER EA 28.37% F| kBHGES | 1 [-1.7%
=xEH Al b ZF| 200m 4 | [FH FEZFT | 31.05% ¥ EXI= 2 |-1.7%
SEHAl ZF|  200m 6 mf = 32.51% ¥ BOIlE 1 [-1.7%
=xEH Al b ZF| 200m 7 | HH EZT [ 30.84% R EXI= 2 | +1.3%
SREFAl dt ZF| 200m 8 )11 55 &= 31.37% R| ERHABS 1 [+1.3%
=AEH Al db ZF| 200m 3 | A<k fEE | 27.91% RIWEEFETYES| 2 | +1.3%
SREHRA| d ZF| 200m 2 EVET 27.73% R WEEES | 1 | +1.3%
SREHRA| d ZF|[ 200m 1 | % AIEF | 26.12% R ARZFES | 2 | +1.3%
SREHRA| Jd ZF|[ 200m 5 FEEEES 29.04% R WAl 2 | +1.3%
=iAEFH Al Jdb ZF|[ 200m 6 =8 FE4& [ 29.19% R ARMABS | 1 | +1.3%
SEHA ZF|[ 200m 4 BAR EA 28.13% B XBE&ES | 1 | +1.3%
SEHA ZF| 400m [RE FEHT DNS| % EXI= 2
SEHA ZF| 400m 3 | &k HEY | 1:08.32% ¥| tRHEES [ 2
SR EHRA| b ZF[  400m 1 T 816 | 1:05.10% F| REES | 2
SEHA ZF| 400m 2 | &K TEE | 1:05.34% ¥ WBEmrEs| 2
SREHA| LR |&ZF| 400m 4 | Bk BiE | 1:19.04% A EEEEE
SREHRA| d ZF| 400m 2 | FR AHZE | 1:08.93* F| kRHEES | 1
SiEHA| ZF| 400m far ¥ DNS | ¥ | #EmyrES| 1
SiEHA| ZF| 400m 1 Al E&F | 1:0587% ¥| tRds [ 2
SREHRA| ZF|[  400m =H AE DNS| ¥ | dtR&kES | 2
SR EHRA| b ZF|[  400m 3 AE HZE | 1:09.51% 3 mEE 1
SR EHRA| b ZF| 400m 4 A =4 | 1:1311% ¥ EXI= 1
SiEHA| ZF| 400m Bx BE DNS[R| kRl s | 1
SREHRA| Jd ZF| 400m 7 A& =4 | 1:1317% R EXIE= 1
=SREFA| kR [ZF| 400m 2 | fE4&K TEE | 1:.04.33% RIWEBRTES] 2
=SREFA| kR [ZF| 400m 3 T 8T8 | 1.04.34% R ER&EES [ 2
=SREFA| kR [ZF| 400m 6 | FlR AZE | 1:08.87* R LRAES | 1
=SREFA| kR [ZF| 400m 1 K EF | 1:.03.38% R GRS [ 2
SEHA| R [&ZF[  400m 4 AR HE | 1:07.19% R mEE s 1
=SREFA| kR [ZF| 400m 5 | &k HEY | 1:08.42% R AARHABS | 2
=REFA| kR [ZF| 800m 4 | /EEH  ERE | 2:49.53% ¥ it%?ﬂﬂa.—; 1
SiAEFHFAl LR [ZF| 800m 2 A HE | 242.27% % =g 1
SEEFHA| It ZF| 800m 1 =£ $hx | 2:21.96% F| kB3 s | 2
SEEFHA| I ZF[ 800m ki L\EY DNS| ¥ | :tR&xES [ 2
SEEFA] Jb ZF| 800m 3 Ml ¥E [ 2:46.15% FIMEETrES] 2




Bias | BmEEs| | ik |EE|IR|  FE|FE|RE|  GE

SAEHA| LR [ZF| 800m 5 | /NEELH | 3:06.13% Y| #RE 1
SREHA| LR |ZF| 800m £ ey DNS| ¥ | tR#ES | 2
SREHA| LR [ZF| 800m 4 | #MA ti#E [ 30371 ¥| aig 1
=SREHA| LR |[ZF| 800m tH BE DNS | % |y hg| 2
SREFHA| LR |&ZF| 800m 1 | B HYS [ 2:44.08+ ¥ | tBBES | 2
SEHA| LR [ZF| 800m 2 A = 2:45.81% A EE=EE
SAEHA| LR [ZF| 800m 3 | Tk BR | 25477 ¥ s 1
SAEHA| LR [ZF| 800m 5 | JKEF ZN0A | 3:04.47x | #AE 2
SAEHA| LR [ZF| 800m 8 | MM £t | 3:0261% R EmBE 1
SEHA| LR [ZF| 800m 6 | ¥EE EBE | 2:51.47x R EEHEBS | 1
SEHA| LR [ZF| 800m 1 =E 3% | 2:23.36% | B s | 2
SREHA| LR |&ZF| 800m 3 A = 2:35.89% R IEEBELIS | 1
ESfAEHA| LR |ZF| 800m 4 | KM MEE | 2:37.42x R EmBE 1
2fREHAl LR [XF| 800m 2 | Bff HYx [ 2:33.19% R AESES | 2
=SAREFHFA dt ZF|  800m 7 T EF | 2.56.05% ' RS 1
SREHA| LR |&ZF| 800m 5 | Bul ImE | 2:45.38% RIBEETYES| 2
SREHA| LR |&ZF| 1500m B DNS| 2| #ES 1
SAEHA| LR [&F[ 1500m | 11 | =B BEFX | 6:35.56% ‘R IFHS 1
=SAREFHA dt ZF|  1500m 10 FEE 1K 6:35.48% [ EREERS | 2
SREHA| LR |&ZF| 1500m PtH BEx DNS [ R [#ERTES| 2
SAREFHA| dt ZF|  1500m Tik =3l DNS|R| MRS 1
SEHA| LR [&ZF| 1500m 4 £k B 5:13.15% R EBELRIS | 2
SAREFHA dt ZF| 1500m 2 A _#%% | 5:08.05% R’ EBs 2
SEHA| LR [&ZF| 1500m 1 =E #n% | 459.74% R EBEEIS [ 2
SinEHAl kR [&ZF| 1500m | 3 | {EEE RE | 5:12.04% R AERES | 2
=AEHA| LR |[&F| 1500m | 8 IS & | 54336 R #AE 2
SiREHA| LR [&F| 1500m 5 | Bft HYZT | 5:2345% R LBEHES | 2
SAREFHA dt ZF| 1500m 6 w8 5:24 A4% R’ EEs 1
SREHA| LR |&ZF| 1500m 9 | ®ul ¥wE | 55077 RIBEETYES| 2
SAEHA| LR [&ZF[ 1500m | 7 | HEe FEfE | 5:39.56% R BRI 1
SAEHA| LR [&ZF[ 1500m | 12 | HE KHME | 6:35.76% R BEEBS | 1
SiEHAl kR [&ZF| 3000m | 10 | /NEELA [13:41.43% R BEIS 1
SREHA| LR [&F| 3000m 8 HA E |12:00.68% R RIS | 1
SAREHA| R [&ZF| 3000m [ 6 | = #liZx [11:46.50% RBEEYES| 1
SREHA| LR [&F| 3000m 7 | &% LBY | 11:58.26% R LBEHES | 2
SfAEHA| LR | ZF| 3000m 1 AH fEE [10:25.12« R BEREYES] 1
SiEHAl kR [&ZF| 3000m | 2 | {EE E [10:55.07% R LESES | 2
SEFHA| LR [&F| 3000m 3 gk 85 [11:05.95% R ALBIAS | 2
SAREHA| R [&F| 3000m [ 4 | N #EB [11:18.78* R EBE 2
SREHA| LR |%ZF| 3000m 9 IS & [12:35.14% R BEIE 2
EffEHA| R [ZF[ 3000m [ 5 M7 11:40.12% R EBE 1




pikss | s Hhl|  fEE i |EEIR| AR |PE|EE]GE

SREHA| LR [&F| 3000m FiE 1% DNS|R| R4S | 2
=REHA| LR |ZF| 100mH | 6 i #5 18.93% R ERS 1 |-0.7%
=AREHA| LR [ZF| 100mH | 8 Fik B 22.31% IS 2 |-0.7%
=SREHAl LR [Z&F[ 100mH 2 BaK HL 17.66% R WEEBS [ 1 |07
SAEHA| R [&ZF|] 1oomH | 3 | O H/IE [ 17.83« R #AE 2 [-0.7%
=hEHA| LR |ZF| 100mH 1 AE BEF | 17.07x R| EE&EES | 2 |07
SAEHA| R [ZF|] 1oomH | 4 | FH BE [ 17.97¢ FIE 2 [-0.7*
SAEHA| R [ZF| 100mH [ 7 MRk 19.72% EIEEE 2 [-0.7*
=EAREHAl LR [&F| 100mH | 5 | #AZE BXER | 18.76% R| EE&ES | 2 |-0.7*
=EREHA| d ZF| 100mH 5 | IhNEFFE HE | 1:25.36% Rl BRAS 1
SirEHAl kR [&F| 100mH | 3 | FB F 1:20.31* R Ess 1
=REHA| LR [&ZF| 100mH 1 fig BEF | 1:15.89% R LBEHES | 2
SiREHAl kR [&F| 100mH | 2 | Big BRE | 1:19.01% | LESES | 1
SAREFHA| dt ZF| 100mH 4 | BiE  RRTE [ 1:22.25% R EBHEES | 1
SinEHA| kR [&F| 5000mwW | 5 | FNE i [47:02.41% R E8g 1
SREHA| LR [ZF]| 5000mW | 2 | EHE [F5h [30:18.45% R BRI | 1
SAEHA| LR [&ZF[| 5000mW | 3 | JKEF 0@ |[31:56.84* Rl HGIES 2
SinEHA| kR [&F| 5000mW | 4 | )i {E#ESE |33:55.55% R| EESES | 2
=SREHA| LR [ZF| 5000mW | i =l A |29:27.37* R GEBIS | 2
=SAREFHA| LR |BF| E5Bk £k IhiT NM [R[ bRt s | 1
=AEHA| R |[BF| ESBk HE HE NM |iR| #AIS i
=SAEHAl dt BF| =Bk FH kA FEREESEE
=SAEHAl dt BF| =Bk 8 BBE A 1m50% RWEFrES| 1
=SREFAl LR |BF| F=Bk | 7 | FE BA | 1m50% R| NFHES 1
=SAREHA| LR |BF| E5Bk | 2 55 =X 1m79% R kBREES [ 1
=SREFA| LR |BF| ESk | 6 | FBE EA | 1m65* R| EERTES | 1
SREFAl R [BF| E5Hk 1 [ EB/I Z | 1m79% R AaBs 2
SAREFHA dt Bx| EoBk 5 HiE K#t 1m65% R WEERS | 2
SAREFHA dt Bx| EoBk 3 | FEH B#t [ 1m79% R EEm 2
=AEHA| R |[BF] E5dk | 4 | 5% FAB | 1m70% R WA 2
SAEHA| R |BF| ESBk Zik % 1m45% R EmBE 1
sfEHA| R |BF| ESBk INE S R RIS | 2
=SAERA| LR [BF| 5Bk e KiE 1mb55% #® EBs 2
=hREHA| kR | BF| #5Bk 5 kB 5 2m60% R &8s 1
=SAERA| LR [BF| Bk 4 E#E 2m70% R BEERS | 1
=REHA| R | BF| #5Bk 6 TH B 2m50% ® &8s 2
SAEHAl & |BF| Hadk [ 3 i B 3m80* R [BEEFES| 1
sREHA| LR [BF| #Edk | 2 Wiy Se3k | 3m80x RIEEETYES| |
SAEHA| R |BF| Hsk | 1 HiE At | 4m00* R| WEEBS | 2
ERERAl LR |ZF| ESBE | 7 | ALK BE | 1midk R ERm 2
SfaEHAl R (&7 EFS5Bk | 7 | B XA | 1mib* R EBE 2




pikss | HEs| Hhl|  ER ik |EEIR| R |FFE|IRE|  1E

.—AKE%}M IR | &ZF| ESBk 3 S5E Bf 1m25% R EES 1
2EEHA| b Z¥| ESBk 2 =0 B 1m25% R WAl 2
SREHRA| d Z¥| ESH 6 KR #x 1m20% R =T 2
2EEFA| Jt TF| ESBk 9 | Af E{E% 1m15% R| kRGBS | 1
2EEFHA| b TF| ESBk g %53 R| EEES 1
SEHAl ZF| EoEk kD] "%%Tf NM [ BAlE 1
2EEHA| b TF| ESBk 5 25 & 1m25% R| EREES | 1
2EEFHA| b TF| ESBk 4 | Elfg FE [ 1m25% R| ARMAES | 1
2EEFA| b TF| ESBk 1 FK HL 1m52% R WBEHEES | 1
=SREHAl dt ZF| EoSBk AR E RIWERTES| 2
=SAREFHFA| dt ZF| ok MER HITE| 2m00x R =S 1
=SREHAl dt ZF| ok AR E RIWERTES| 2
SiEHA ZF| ESBk Bl %A 1m70% R BEE 2
SREHRA| d BF| EmEEk | 15 FREES 2m50% R| WEEEBS | 1 | +0.9%
=SREHAl dt By FEEBk EF HE R EVIS 1
=iAEFH Al Jdb BF| EmEB 12 ER 5m27% R AEBEMHEBS | 2 [ +1.4%
SEHA BF| EgBk 8 7(173- 2NN | 5m77% R GERWEES [ 1 [+1.2%
SREHRA| Jd BF| EgBk 9 TR MR 5m49% R OIS 2 | +3.0%
SREHRA| Jd Bx| FmEpk [ 14| % 2B 5m25% RIMEERSES] 1 [+1.5%
=SREHAl dt Br| EmEpk | 13| =i ¥BE 5m27% R e 2 |-08%
SREHRA| Jd BF| FmEpk [ 10| KKk Ht 5m46% R HERS 1 [+1.6%
SREHRA| BF| Emgk [ 11 A e 5m36% R G 2 |+0.2%
SREHRA| d BF| Eigdk 4 K @t 5m90* R ERS 2 | +35%
SREHRA| BF| Eigdk 5 H Ht 5m90* 3R RS 2 [ +1.3%
SREFRA| I BF| Eigdk 2 =R 6m02% R S 2 |-18%
SREHRA| BF| Eigdk 3 | At+E K | 5m92x Rl LRSS | 1 [+0.6%
SiEHA| By FEEBk HBE EHE R EXRITES | 1
SiAEFH Al Jdb BF| EmEBk 6 1k #Ew 5m84% R e 2 |+2.4%
SREHRA| BF| EMEBk 7 1] Enau 5m80% R AdkR&GES | 1 [ -01%
SiREHAl dt By FEEBk BE EH Rl RIS | 2
SREHA| R | BF| EMEBk 1 541 BE% 7m15% R #J&.—; 2 | +0.8%
SEHA| R | BF| EMEBk K& BAER| 4m85% R EES 1 [ +1.2%
SiAEFHAl R [BF| EMEk MHE EH R :H:E:Il:—l—.—; 2
SREFRA| kR |BF| EiEk T IhEER | 5m32x >R RS 1 [+2.0%
SEHA| R |BF| ZERBk B &t R FES 1
SREFRA| kR | BF| =Bk | 1 BE A | 10m84x R|MBERSES] 1 [+0.6%
SEHA| R |BF| ZEBk 2 | A+E K | 12m33% R GEREIS [ 1 [+1.0%
SREFA| kR |BF| =EEBk | 10 | @k R | 10m99% R BWAlE 2 | +1.1%
=SAEH A dt BF| =E&Bk 5 ME E# [ 11m84x R ALREES | 1 | +0.4%
SEEFHA| I HF| ZERBk | 12 A FIK | 10m58% R BAES 2 | +2.2%
=SAEH A dt BF| ZE&Bk 9 KoK Ht [ 11m08* R RS 1 [+3.1%




BREES | s Hhl|  fEH i | 5 ik |EEIR| BilE] | 4 | B |
.—117@%)?)\ R | BF| =Bk 6 hE EE | 11m76% R =S 2 | +1.9%
SREHRA| Jd BF| =Bk 7 =S A [ 11m70% R B 2 | +2.3%
SiEHA FF| =Rk 8 Tk #HEW [ 11m69* R RS 2 |-0.8%
SAREFHFA dt BF| =&k 3 WHE E# [ 12m18x R RIS SE | 2 [+1.4%
SiEHA BF| =Rk 4 =3 BE | 12m09x R FIRS 2 [+0.8x
=SAREFHFA dt BF| =&k 1 A Bt [ 12m71% R =R 2 | +0.8%
SREHRA| Jd BF| RahE | 1 WO K 6m93* PARE-S =) 1
SiEHA BF| fahs [ 14 =B f1X 4m8 1% PAEEAZEETH I
SEHAl FF| i Bk FE PARE-S =) 1
=SREHAl dt Bx| ik Ll IKE R EREES | 1
SiEHA BF| FhE | 13 [ WHF BA 5m05% R EVIS 1
SEHAl BF| fahs [ 12| /g KB 6m36%* R XiRS 1
SREHRA| d BF| FhE | 10 [ =TH K 6m95% R NFFES 1
SEHA Bx| ik 9 % k& 8m59% R RIS | 2
SREHRA| Jd FF| i 8 Big & 8m96* R BES 1
SREHRA| Jd FF| i 7 HT Kl 9m36% R WS 2
SREHRA| d FF| i 5 Al Hiﬁ 9mB7* R EVIIG 1
SREHRA| Jd FF| i 3 MR 380 [ 10m51x R BEE 1
SEHA FF| i 6 INE A 9mb59* R WBEHEBES | 1
SREHRA| d FF| i 2 Bk 1R [ 10m71x R RS 2
SREHRA| Jd FF| i 4 | At #BEE | 10mi2% R TS 1
sffEHA| R |BF| @i | 1 A EA | 11mi8x R BEEBS | 1
=SiREHAl dt BF| ik F8 EX R BEEBES | 2
=SiREHAl dt BF| ik WH Est 6m65% Rl RIS | 2
SiEHA| BF| ik Ko BIAER] 5m07* R BEE 1
SREHRA| BF| ik EE EA 6m87* R EBRITES [ 1
=SiREHAl dt BF| ik EF % R ERS 1
SREHRA| BF| MAEE | 15 [ EpE PE 9m14* PARE-S =) 1
SREHRA| BF| Mm% [ 10| pigE F#E | 20mi13x A AZEET=H I
SREHRA| Jd BF| HHEE | 13 FIER Ak 15m42% ALl 1
=SAEHAl R [BF| ALE | 12 | 5% & | 17mo6x R EV= 2
SREFA| R | BF| HBER 8 HT KAl | 20m88* R WA 2
SEHA| R | BF| H#E% 7 B E& [ 25m27x R =R 2
SREFAl LR [BF| AR [ o | #Il EEE | 20m28+* R EEMAES | 1
SEHA| R |BF| HHB% | 14| TH BXK | 13m67x K| EREES | 2
SEHA| LR [BF| MR | 11 | AiE RX [ 17mb0* R LERES | 2
SAEHA| R |BF| ML | 4 ER % 29m38* R EBE 1
aREHA| R | BF| HBE 2 A K#E | 31m4lx ® HEEXS 2
SEHA| LR [BF| MR | 6 | A BA [ 29m08 R| HEEBS | 1
SEEHA| LR [BF| ABE [ 3 | ZEFE @i | 29m74* Z| ERs 2
=EEHAl R [BF[ ABE | 1 | FHE &HEE | 35m59* SIEDE 1




Rikis| Rl  FEHE i | & ik |EEIR| A& P4 | JEE |
: AR 5 FE O EA | 29mi14x R HBEEBS [ 2
p NoI—1| 6 WH A 12m00% EXI= 1
p NoT—E| 5 T thak | 21m83% B 2
p NoT—%| 4 B IZen | 23mb59% =T 2
sﬁs ] Nov—8H| 3 Frt =K | 30m44dx BAlS 2
SiAES p Now—#| 2 | A BRI | 34m5H8% =S 2
SEE p NoOT— 1 BiE & | 37mi6x =S 2
SEX; ] Py INE R WEEES | 1
SEE : o) % 13 BN Sk | 29mO07* Al a 1
SEE 3 ek 15 WO A | 23m62% ZE Al 1
SEE : ek 16 | BTH &K 21m08* RIS | 1
SEX; ] Py 17 | B =X | 17m18% VS 2
SEE; ] DY 6 | EF F0#E | 38m49x tR#EES [ 1
SEE E HY 7 NG KB | 38m30% EIRS 1
NEE ] DUE 11 ¥ IR | 31m07x = 2
NEE ] DUE 14 | #)Il BE= | 28m69% LtRAES | 1
SEE ] OUE 9 =ZH BAK | 34m37* LtREES | 2
NEE ] DUE 12 FaiE K& | 30mi4x =BS5S 2
SEX; E Py 10 | 5% &% | 32m01x* EXI= 2
SEE 3 LUk | 8 | FEH JRA | 38m00x BEEBS | 2
NEE] ;1 OUE 4 | E% FEAEA | 41m35% BAlE 2
SEE; E Py 2 BadR GERE [ 44m05% BEE 1
SEE; E Py 5 =% K& | 39m23x EtRIEISs | 2
NEE] j BUE 3 BERE AX— | 43m89%* BAlE 2
SEE; E Py 1 BA KiE | 49m09% RS 2
SEE) E Py PAE R | 35mbdx RIS | 2
SEE; E Py K BIAER| 15m13* BEE 1
SEE) E PYE Bk HE [ 19m84x ZiEnls 1
=SAEE ] Py ik A | 20m39% LTRITES | 1
Sﬁé E DY B & 37m03% =S 1

SEX; FE S Bk 6 RE & 3m97* WEEES | 2 | +1.0%

e FE S Bk 9 e &8s 3m30% BES 1 [-0.4%

SEE; FE S Bk 8 |MEHR HI=| 3mb5* EES 1 [-0.7%

EF FE R Bk 7 Z8 mE 3m65% =S 1 [-0.9%

3 FE R Bk 5 KR ##=% 4m13% RS 2 | +0.5%

FE S Bk 3 =H E8 4m?25% BAlE 2 [+1.0%

FEiE Bk 4 | EAR £ | 4m23% tRMEES | 2 [+0.5%

FE R Bk 2 PNAIEGES 4m26% EtRIdE | 1 |+0.5%

] FE S Bk 1 NS 4Am3T7* WEETZES| 2 |+1.2%
E FE S Bk EVEET %ﬁt&lla.—; 1

] = EX Bk tERKR BHE 8m26% REE S 2 | +0.9%




pikss | s Hhl|  fE8 i | — ik |EEIR| R |FE|RER|  1E

.—117@%)?)& IR [ ZF| =KBk ENGEES 10mO0%* RIMBEERTYES| 2 | +1.2%
=SREFHFA dt ZF| =B ZA FE R EEES 1
SiEHA TF| =Bk Al EF 9m94* R RIS | 2 [+2.1x%
2EEFA| Jt Z¥| ik 9 EE HF 5m14* R BAlE 2
=SAREFHFA| dt TF| HALE 8 A KB 8m30% AR ET=H I
SREFAl dt ZF| Fahix 6 NGRS Im11x* R =EDS 2
SEHAl TF| mAhix 7 IS 9m02% R HRE 1
SiEHA TF| iR 3 He KB 9mb52% R RES 2
SEHAl TF| iR 5 | & AHE | Im3ix ®| ARTES [ 1
SEHAl TF| mAhix 4 | 3RO EEF | 9mb0ox* R ABRES 1
SREFRA| db TF| iR 2 LLI I ’A% 10m42% RI|WEmIrES| 2
2EEFHA| Z¥| iy 1 h &= 10m53% R FES 2
SiAEFHFAl d Z¥| BELE A ZE R|EEBRTES] 2
SEHA ¥ HEBE 5 &2 BE | 18m63* R B 1
SEHA ¥ HEBE 6 | KE SEibHE | 18m22% R BIES 2
=SREHAl dt Z¥| AR fREA M R BIES 1
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